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Q1 [7.5 points|. Circle the correct answer.

1. If vy, ve, v3 are linearly independent vectors in a vector space V' and if
v € V does not belong to Span{v;, vy, v3}, then
(a) {v1,vq,vs,v} is linearly dependent
(b) {v1,vq,v3,v} is a spanning set for V
@ {v1,v2,v3,v} is linearly independent
(d) dim V<3

2. The vectors {1, cos 2z, cos’ z — sin’ 2} in C[0, 27] are

(a) linearly independent
linearly dependent

() A basis for C0, 2]

(d) A spanning set for C[0, 27]

3. The set {(1,1,1)",(1,1,a)”,(1,a,1)7} is a basis for R? if
(a) a#land a# —1

0:751
(c) a# -1
(d) a#1lora#-1

4. Let S = {(a,b,a+b+2¢)"|a,b,c € R}. Then a basis for S is

(a) {(1,0,1)7,(0,1,1)"}
{(1,0,1)7,(0,1,1)7,(0,0,1)T}
(c) {(1,1,1)7}

(d) {(1,0,0)",(0,1,0)"}

5. One of the following is true

(a) If dim V = n, then any n vectors in V span V
(b) If dim V = n, then any n vectors in V are linearly independent

If dim V = n, then any n linearly independent vectors in V' form
a basis for V

(d) Py is an infinite-dimensional vector space



Question Two (2.5 pts). Let

= {p(:t:) € Py folxp(m)d:r: = 0}.

Find a basis and dimension of S.

/)(V\)é/}() = P(K).’: bk X+
2

| ’ 2
S x?(,gAXT_Q t;)f(o\xg’\'\px *Qx)ca?(”lo

ey o
|
a x 1 Lx* 4, ext = b

) ___)_<___ —+ = ok — -
L’l [\
/{_La (; = 8
s & gl = 5 b

=)

= s Ly
f(x) o x tAb X gl =g

T Dtz

Good Luck
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